
RAM DOUBLE SUCTION CUP BASE  ASSEMBLY INSTRUCTIONS
PARTS INDEX:

A. DOUBLE SUCTION ADAPTER PLATE (QTY. 1)*

B. RAM™ TWIST-LOCK SUCTION CUP (QTY. 2)

C. #10 X 3/4” SHEET METAL SCREW (QTY. 4)

D. #8-32 X ½” MACHINE SCREW (QTY. 4)*

E. #8-32 THIN NYLOCK NUT (QTY. 4)*

National Products, Inc. 8410 Dallas Ave S. Seattle, WA 98108 206-763-8361 www.rammount.com

A B C

RMR-INS-189

ASSEMBLE (A) ADAPTER PLATE WITH BOTH (B) 
SUCTION CUPS USING (C) SCREWS AS SHOWN BELOW. 
DO NOT OVER-TIGHTEN SCREWS.

ATTACH RAM BALL BASE TO (A) ADAPTER PLATE USING (D) SCREWS AND (E) NUTS. 
THREAD ALL SCREWS AND NUTS BY HAND FIRST, THEN TIGHTEN USING PHILLIPS 
HEAD SCREWDRIVER AND ADJUSTABLE WRENCH.

BALL BASE NOT INCLUDED 
IN ALL KITS: RAM-B-202U

FOR PROPER SUCTION, MAKE 
SURE SURFACE HAS NO CRACKS 
OR SCRATCHES, AND HAS BEEN 

THOROUGHLY CLEANED.

D

E

C

C

C

C
D D

E

*ADAPTER PLATE AND HARDWARE QUANTITIES MAY VARY BASED ON KIT PURCHASED

ALTERNATE
ADAPTER PLATE

ALTERNATE
ADAPTER PLATE

RAM DOUBLE SUCTION CUP BASE  ASSEMBLY INSTRUCTIONS
PARTS INDEX:

A. DOUBLE SUCTION ADAPTER PLATE (QTY. 1)*

B. RAM™ TWIST-LOCK SUCTION CUP (QTY. 2)

C. #10 X 3/4” SHEET METAL SCREW (QTY. 4)

D. #8-32 X ½” MACHINE SCREW (QTY. 4)*

E. #8-32 THIN NYLOCK NUT (QTY. 4)*

National Products, Inc. 8410 Dallas Ave S. Seattle, WA 98108 206-763-8361 www.rammount.com

A B C

RMR-INS-189

ASSEMBLE (A) ADAPTER PLATE WITH BOTH (B) 
SUCTION CUPS USING (C) SCREWS AS SHOWN BELOW. 
DO NOT OVER-TIGHTEN SCREWS.

ATTACH RAM BALL BASE TO (A) ADAPTER PLATE USING (D) SCREWS AND (E) NUTS. 
THREAD ALL SCREWS AND NUTS BY HAND FIRST, THEN TIGHTEN USING PHILLIPS 
HEAD SCREWDRIVER AND ADJUSTABLE WRENCH.

BALL BASE NOT INCLUDED 
IN ALL KITS: RAM-B-202U

FOR PROPER SUCTION, MAKE 
SURE SURFACE HAS NO CRACKS 
OR SCRATCHES, AND HAS BEEN 

THOROUGHLY CLEANED.

D

E

C

C

C

C
D D

E

*ADAPTER PLATE AND HARDWARE QUANTITIES MAY VARY BASED ON KIT PURCHASED

ALTERNATE
ADAPTER PLATE

ALTERNATE
ADAPTER PLATE


	Page 1

